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Credit Memo P0616CM is due to a charge being applied to the wrong account in a prior month.  This charge was moved to the Shortfall invoice in the prior page in the current month.  As a result, we should not rely on total charges on this invoice as that will result in double counting the amount applied to the shortfall account.  Instead, relied on the invoice balance due on the following pages rather than total charges when calculating monthly dollars per ton.
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Not sure why a credit was applied to this account, but it is not large enough to make a material difference in the total charges for the month.  As a result, we are going to rely on the balance due rather than total charges so as to use the most conservative treatment of the credit received when determining the amount of cost to pass through to customers.
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